
RAMPAGE
P R O D U C T S

BRACKET KIT #14615
INSTALLATION INSTRUCTIONS
09- DODGE RAM ALL CABS

Hardware:
(8 x) 5/16”x 3/4” Hex head bolts  (4 x) Double bolt plates    
(20 x) 5/16” Serrated nuts

(8 x) Main brackets
 (4 x) Single bolt plates (8 x) Board brackets

(8 x) 5/16” x 3/4” Carriage bolts

1) Review components and be sure they are all there and correct before 
beginning assembly.  Please read and understand all instructions before 
beginning.

NOTE: the number of brackets required depends on the cab length the 
bars are being installed on.  Regular cab trucks use 2 locations, Quad, 
crew and Mega use 4.

2) Separate out parts for installation on each side. Review the mount 
locations on the underside of the cab. Unless something has previously been 
installed on the truck, there will be tape covering the mounting holes.  The 
factory locations are angled sections at each end of the truck and flat sections 
in the middle. 

3) Install the mounting brackets onto truck using the bolt plates and serrated 
nuts as shown in the illustrations.  Note the direction of the front and rear 
mount’s flat bolt plates when positioning on the vehicle.

4) repeat for other side

Caution:  Be very careful when installing the bolt plates inside the 
sheetmetal. If they fall they will be very difficult to remove.  

Board installation:

1)  Install board clamps to horizontal area of previously installed brackets 
using 5/16” x 3/4” carriage bolts, and serrated nuts.  Leave loose and align 
parallel to the truck.

2)  Rest the Streamline board onto the mounting brackets and be sure the board 
clamps fit up into the center of the board.  Rotate the board clamps so that they fit 
inside the boards over the internal lip.  Tighten all.

3)  Repeat for other side.

Driver side

FrontFront

Front
Rear

5/16” Serrated nuts

5/16” Serrated nuts

5/16” Double nut plate

5/16” Double nut plate

5/16” Single nut plate

5/16” Serrated nuts

Rear

Middle
2x for Quad, Crew and 

Mega cabs

Board

Mounting
bracket

Board bracket

Carriage bolt

Board clamp installation

rev3 09/29/2010

22420 Temescal Canyon Rd., Ste. C, Corona, CA 92883  Phone: (951) 277-4949 Fax: (951) 277-2295
www.rampageproducts.net


	Page 1

